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Problem

A solute that form crystals is to be 
precipitated from solution at a rate of 
10,000Ib of solid (dry basis) per hour 
using 1,000Ib/hr of seed crystals. If 
no nucleation occurs and the seed 
crystal have the following size 
distribution, determine the product 
size distribution



Problem

Tyler Sieve Mesh Weight Fraction 
Retained

-48+65 0.10

-65+100 0.30

-100+150 0.50

-150+200 0.05

-200+270 0.05



Tyler Standard Screen Size



Crystallizer Seed and Product 
Particle-Size Distribution
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